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16 x 1 = 16

A) B) C) D)

X = X

A) B) C) D) 

A) 2 B) 4 C) 0 D) 1
P + 4 = 15 P

A) 10 B) 19 C) 11 D) 7
6m2 m

A) 6m B) 6 C) m D) m2

A) 

B) 

C) 

D) 

A) 2,4 6 B) 1, 3 5 C) 1, 3,2 5 D) 2,3 5

A) B) 

C) D) 

A) 4 B) 5 C) 6 D) 7

A) 136 B) 523 C) 439 D) 294
xyz

A) 10x + 100y + z B) 100x + 10y + z C) 10x + y + 10z D) 100x + y + 10z

A) 1729 B) 27000 C) 827 D) 2700

-



A) 8 B) 16   C) 8   D) 16 

 

A) 1 : 10 B) 10 : 1  C) 100 : 1  D) 1 : 100

 

A) B) C)   D) 

 

A) B)   C)   D) 

II 4 x 1 = 4  
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 X- Y- 
 r h
 Y = 4

III 6 x 2 = 12
 
 

 2p2q2  3pq + 4 5 + 7pq  3p2q2

 (a2 + 8a + 16) (a + 4)
 
 

 

IV 3 x 3 = 9
 

 

 BN = 5.6 cm, DE = 6.5 cm BEND
V 1 x 4 = 4

 12m x 8m x 4m

IV 1 x 5 = 5
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